Recap of last time (probability definitions).

e State your assumptions!
e |dentify sample space (5) and event space (F).

e Draw probability tree to compute outcome probabilities (if possible).

b

e Outcomes have equal probabilities? p(E) = o

e Outcomes have unequal probabilities? p(E) = > p(e)
eck

e Probability of E not happening? p(E) =1 — p(E)
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Exercise 0: draw the complete probability tree for a best 2-out-of-3 series.

Assumptions:

e Each person has a 1/2 chance of winning the first game.
e Chance of winning after a win is 2/3 (so chance of winning after a loss is 1/3).
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what is the chance of winning the series given that you win the first game?



Conditional probability: goal is to answer
"what is the probability of A given B?"
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Probability of winning the series given that you win the first game.
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Exercise 1: rolling two dice. \
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2. What is the probability that the sum of both dice is 10, given at least one die is a 57
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Exercise 1: rolling two dice.

1. What is the probability that the sum of both die values adds to 10?
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2. What is the probability that the sum of both dice is 10, given at least one die is a 57
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Exercise 2: rolling bit strings of length 4.

A: event in which you randomly create bit strings of length 4 that begin with a 1.

B: event in which you randomly create bit strings of length 4 with an even number of 1's.
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